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78 2240 KFE HEB) = m-soiwms 12. 47 33202 £ AR B om-EA® DNS
2 4657 KUE [EER(2) = M- sk DNS 4 3846 /AR HIFR(2) oM - TR DNS

FL5| DNS:R1% DQ:#& FS:(TR16.8)ANIEAS—b



3385 F100m

% OH K OKH BN BB
FLEREAL : BTR K=

6HT7TH 00:00 #{hV—%

B{hVv-%x  115%H

514H (@ +0. 1) 52%H (@ :+0. 1)
JERE V= dun' = K4 P& Fofk 1Avh WERr V= tun - K4 Bz Fifk Vb
1 5 2806 &H Bk (3) = - wHT 11.89 1 2 4727 BJIl 4 (2) %= - gHE 11.79
2 2 4711 o K@) ® & KA 11.93 2 14799 ki MZEQ) = - EES 11.83
3 7 6609 EAJI #i—12) = - ke 12.18 3 8 6634 A [EFH(Q2) = m-cRmEes 12. 06
4 6 2843 PR WEsr(3) ®m sl 12.18 4 4 2228 JKEF KIE(Q) = omosmriaEs 12.19
5 3 2714 #m W ® memmeas—x 12,24 5 3 4645 f2E BEA(2)  ® - sk 12.22
6 1 2777 R 7 (3) - RAAC 12. 41 6 6 2227 JHAK FE(2) O ETRRES 12. 24
7 8 5053 i —&(1) - B 12.61 5 3277 FHiL A B) = - wmoan DNS

4 2190 B{II FIK(Q2) = m-gaEs DNS 72232 JNEE FEAKB) = om-mooses DNS
53%H (E.:-0.7) 54%H (E:-1.4)
NEAL V= Fon' = K4 B FoEk aAvb NERL V= Fun - K4 B FoEk 2Avb
1 5 5036 fAk ZEK(1) = w- R 11.96 1 8 7632 HKRI JEBEN () = - anfilete 11.98
2 2 2171 {FE KRZE(2) = m-siEnE 12. 00 2 4 5222 {HEAK HzBIQ) B - gof 11.99
33 3177 JNpE EME(B) ® m-TSM 12.02 3 5 2852 fFE WAKER() & n-#ls 12.17
4 8 5095 i &I (3) = om-mAFEE 12.28 4 6 3879 Fi HAE©@) B m-uws 12.23
5 1 6617 M Hm(2) = - KR 12.33 5 2 4231 Hll #AH(2) = m-xikkiE 12.23
6 6 3294 —HA BEA(3) # - KIKKo TFC 12. 43 6 1 4667 R BY(2) B - s 12.26
707 2314 WETF OBAAN() = omesiiews 12. 49 77 2385 SR ORME(D) B om-uEs 12. 46
4 2668 HH K 0 - EVOL DNS 8 3 4618 JIlO MEK(2) & M- ke 12.67
5540 (R:-1.3) 56%H (R:-1.0)
JERE V= dun' = K4 P& Flfk 1Avh WERr V= Fun - K4 Bz Fifk Vb
1 3 3173 @I HHE(Q) = M-TsM 12.18 1 5 2082 fA[] WIR(2) B A0 EaE 11.89
2 5 5184 WY FEHI(Q) ® - dD 12.23 2 1 3198 fifff #(3) T - RAT 12. 04
3 6 6640 KU HeE(2) = omemzaes 12.27 38 4264 FEA BIE(Q) = m-wRE 12.26
47 3900 fFEJRE KHE3) = - mAbRE 12. 37 4 6 4ATIT B PR(2) T M- A 12.35
5 8 4694 fEJH  KME(2) ® M- XKAE 12. 45 5 4 4389 /MR BEK(2) B om-8uE 12.35
6 2 4706 TELS O FAHQ) ® om-KAas 12. 56 6 3 4345 BEWF B3 (3) T - W 12.37
7 4 4976 WERE  BE (1) M- KAH 12.70 7 2 2261 HTH #®A  ® &-AGX 12.57
8 1 6694 EA HE—(1) B n-crEm 12. 82 7 6557 /NE A2 m om-WALE DNS
5TH#H (JAl:-1.3) 58%H (J&:-1.0)
NEGE V- fyn' = KA EiE] FLfk AV NEGE V- Fun - K4 EiE! Fofk 2Avb
1 7 3168 #AK HEEE@ = &-TsM 12. 14 1 8 2293 B NHE(1) = m-moksms 11.95
2 6 5042 A FRAER) = om- Akt 12.17 2 4 2812 KT J20L(B) & m-wEkd 12. 10
3 5 2805 /MR VB ® omn- Wik 12.28 3 6 7628 HA MAB) = m-anrilete 12. 14
4 1 6490 I KHE(3) T AN 12.36 4 1 4421 WOKH HEKQ) ® - e 12.17
5 3 5038 REA H—RR(3) ® - Aiewcp 12.41 5 3 4885 B BEH(1) Z - TR 12.21
6 2 5079 FKHE {&H3) = - Esp 12.45 6 7 216 UTHEE BEWK T AT 12.23
78 3934 JNpk BEQ = m-diEs 12.52 702 4774 WMHE Q) T - A 12.41
4 4531 [UAR BZE(@2) = m-wmrEs DNS 8 5 4554 FRH#E EE(2) B A - RS 12.53
59%H (JE.:-0. 9) 60%H (JE.:-0. 6)
JEAL V= dun' - K4 Bl Flfk Vb AL V= Fun' = K4 B Fifk Vb
1 7 6688 Tl Eifst (1) m - ckmiss 12. 09 1 2 4354 fkH BFKQ) = omesimms 12.17
2 8 4416 Ji KMt (2) H - 1 12.13 2 4 6541 INEE —HEE(2) ® - domhoEs 12.18
31 2987 ZH: H(3) C - ST 12. 15 3 6 6632 HE (2 N TR 12.39
4 3 2306 H)I O BEE() = owosokaws 12.27 4 7 4358 JUKS A2 ® owm- s 12. 42
5 5 2726 @il =E[) L A 12.29 5 34359 Wl EYL(2) = measmEmE 12.53
6 2 3883 ME MEKRK(Q2) & a0 -juEre 12.41 6 5 4722 HF F ) T mEE 12.63
T 4 4227 fExK FEKB) = m- ks 12.53 71 3160 JE EAXQ) % G- TSM 12.82
8 6 3944 WA IKE (1) B & AdES 12. 64 8 2241 T HFE(3) = m-srasws DNS
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% OH K OKH BN BB
FLEREAL : BTR K=

6HT7TH 00:00 #{hV—%

B{hVv-%x  115%H

6140 (8:-1.6) 6248 (1. 4)
NESL V= Fun - K4 i) Fogk aivb NERE V= Jun' - K4 iz FLfk aivb
1 3 6679 JEHE REHME(L)  ® w-mzmmes 12.28 1 8 4884 #EJIl EEF (1) = - hiT¥m 11.89
2 8 7629 BRI WEH (3) & - anfilete 12.33 2 1 3112 %5 FEk(©2) B - HEET 12.16
32 4790 T RAL(2)  ® om-AmEm 12.33 3 5 4254 JEIF EA(2) B - BRE 12. 30
4 4 2233 K BRI (B) = om-moimEs 12. 46 4 3 4628 Rf% EK(©Q) F M- fkdE 12.31
5 1 2054 FEE $H(2) F a0 WA 12. 47 5 6 2898 4E HE(3) T A 12. 34
6 5 9304 VTHE FRHR e bkl 12.50 6 4 2052 AEF IRF@B) = om-wwEE 12. 46
77 2284 HMI O Zexk(1)  ® om-woTEE 12.63 77 2900 A REER(GB) ® o m-mEmm 12.61
8 6 7554 EH JEEE(2) = m il 12.71 8 2 2897 WET EM() B m-mad 12.74
63%H (E.:-1.4) 645%H (J&.:-0. 6)
R V= FunT = K4 & FoEk aAvb NERL V= Fun - K4 B FoEk 2Avb
1 5041 HAF  FE () S - R 12. 40 1 4926 ZH WK (1) 0 - WA 12.22
7483 INE  HOE(2) 1+ KR 12. 42 3165 AT ik (2) - TSM 12. 26

2381 IRA  WEff ¢ B HILTRC 12.35

5
z 5
2085 i sHAK(2) %
4932 e BEE(D) - W 12. 36
- 5
o4
5
5

3966 MM KRR (2)
3275 HilE #HIFEQ)
2373 B Bk (D
2430 W BROKER (1)

- B 12. 47
S 4R 12. 60
1 o> e 12. 61
IRES v 12.93
PR = 13. 05

2089 LA EHHE(2)
4851 HA & (2)
4594 P EHEE(2)

LI Y

00~ U W N
ESICRSCIG RS IS NN
0~ Tl W N

N ST IR IS ISR OO N

7499 HH 5 (3) S+ KRR 13.15 4595 {FiE  BR(2) 12.99
655%H (JA: 0. 6) 664 (fi: +0. 3)
NERL V= Fun - K4 Bz FLgk aAivb NERE V= Jun' = K4 i FLEk aAvb
1 3 4968 M EERE(1) = - AW 12.19 1 8 4471 i —28(Q3) = mesimxes 12.16
2 1 4817 HF  KFn(1) B 12.28 2 5 5029 M HEFQ) = m- FEME 12.50
3 6 4965 KH  KEQ) ® M- AEE 12. 30 3 4 9232 bW Ikig T - FAbE 12.56
4 8 4852 M B (2) = wm-orvunm 12.50 4 6 5021 A (1) - W 12. 70
5 7 4263 EJFU FJEQ) ® o WRE 12.74 5 7 5183 KA RAQ@) & - 12.85
6 4 6683 fEK FRE() om0k 13. 44 6 1 4275 Kyt FEE(1) = m-donms 13.19
7 5 6685 fillE ALA (1)  ® m-fmkthE 13.65 703 2299 BEH AEER (D) = wesocsms 13.55
2 6684 BiH FHE() = &k DNS 2 2300 AE PBIKA) = om-smoiews DNS
6THE (JEl:-1. 5) 684H (J&:-1.8)
NEGE V- fyn' = KA EiE] FLfk AV NEGE V- Fun - K4 Bitz) Fofk 2Avb
1 2 2301 EpE (1) T me BTAAEE 12. 36 1 2 2317 ZFl HEL (1) = m-mocsms 12.24
2 8 2313 Hib WS (1) = w-soxnEs 12.60 2 1 4994 Fox BH—1) B - RS 12. 46
3 5 2310 WK KEQ) = - sokews 12.92 3 6 2296 [AA IREL(L) = m-mrisEs 12.56
4 1 6686 ESE FHIE)  m w ki 13. 05 4 8 2983 R #f(2) = ow-mmowsa 12.70
5 3 2312 FHlEF Bisk(1) = omemtaonws 13.23 5 7 2406 PEHIR A&((1) = @ : 12.82
6 4 2316 A EL(QD) 2 M-BLK 13. 24 6 5 2305 [@M HAA) = mw 13.18
77 2302 WBfR3p(1) LR 13.72 7 4 6687 (L AHKQ) = memwibkat 13.25
6 5037 (LA FRYL(3) = - A DNS 3 6612 AL MIEQ) = m- KrRE DNS
69%H (E:-1.3) TO0%H (JE:-0.7)
NIEGE V= v = KA e FLEk /b NG V-v  fyn - KA EIE] FLEk 2Avb
17 3928 /NAMR BEK@GE) ® - gikEs 12.37 L 4 4788 JbJIl BEIE(2) &= - BHE 12. 43
2 1 5072 @ifE HEf(2) = - g 12.57 2 7 5087 ffE A (3) T 12. 44
303 2282 =hF A1) m o om-wumEm 12. 80 3 8 5020 Uk AEFEQ) = m-wEE 12. 44
4 2 5056 {FAEE MZE(1) = 12.83 4 6 217 JNEE K T M- ATK 12. 64
5 6 2307 /PR R = 13. 20 5 1 4793 £H RQ) B M- 8EHES 12.69
6 4 2308 @& #kFQ) = 13.23 6 2 3170 H5F HmK@ ® &m-TsSM 12.71
7 5 2309 ANEE KB (1) = w-mocems 13.51 33930 bt AEEQ) ® - s DNS
8 8 5085 fEM FE(3) T G 16. 10 5 6550 [AA —MH(Q2) = - DNS
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FLEREAL BT K=

6HT7TH 00:00 #{hV—%

B{hV-% 115%H
T1#E (B:-1.0) T24H (.:-0.8)
NESL V= Fun - K4 i) Fogk aivb NERE V= Jun' - K4 iz FLfk aivb
1 2 6630 fEmW HEFE () m o crmus 12. 15 1 8 2263 /NEE AWR(L)  E - JBEE 12.35
2 3 2030 HE BA(2) = m-seearss 12,50 2 1 3907 Lk HEKQ  ® - R 12.38
3 6 6644 Wk L (2) = - azmrs 12. 52 3 4 7528 JNEE BEIK(Q) ® m-wART 12. 40
4 5 6714 WA B = omemkuda 12. 68 4 7 2841 AR BEE) B M- 12.51
5 8 2980 Ml ARK(2) = m-mowmk 12.95 5 5 6631 JIlm j&(2) B LM 12. 70
6 4 3988 JbJIl FEIE(Q2) = - HEE 12.96 6 6 6633 B WE Q) = m-pma 12.72
1 7661 EiE Zek(1l) = m-smac DNS 703 2062 TN TRER) B m - wiemE 12.85
704322 BRI Q) = e wokis DNS 2 3195 H @) = &-EAT DNS
73%H (JE.:-0. 5) 7458 (E:-1.6)
NEAL V= Fon' = K4 B FLEk 1AV NERL V= Fun - K4 B FoEk 2Avb
1 3 3280 #RHI fHRE(2) = m-kikko e 12,50 1 4 2252 =K BFQ) = 4 - 4EE 11.95
2 8 4252 FHJ WEIK(©2) E - WA 12.61 2 6 5094 fBA FEA(2) B m-EAFH 12.59
3 4 6539 K EBE(2) = omoimhoas 12.76 32 7526 i EEB)  m m- makEl 12. 67
42 7489 LI ZAL(2)  ® - KEE 12. 84 4 8 4377 FEHE WBEQ) B & - #AE 12.72
5 7 3201 EifF WAKGB) =® m-EAT 12. 86 5 5 2467 KEJII Hhi— S Mo TEC 12.90
6 6 2057 HIE HEEK(2) = m-woms 12.88 6 3 7431 fERE FEI(Q) = - KFFL® 12.93
1 2199 (L@ AlLQ) = m-dEm DNS 7 1 5002 FAMA ASL(D)  ® - s 12.99
5 7630 ffE  MfEB)  ® - afilete DNS 8 7 4371 KL EK(©2) B m-#eE 13.01
7540 (R:-1.5) T65%E. (R:-0.7)
NERL V= Fun - K4 i) FLgk aAivb NERE V= Jun' = K4 i Rk AV D
1 2 3176 wrre= rrvonriwie 5 e TSM 12. 40 1 5 4961 BE)Il EEFN(L) = w- g 12. 24
2 4 2290 BN MK ® - 9IRE 12. 44 2 1 2280 /T &A1) = - womEs 12. 36
3 6 5040 J\K EEAE(1)  ® - A 12. 64 3 4 2286 fHEE LR Q) B s 12. 44
4 3 6484 /NEA JFA(L) ® s ser project 12.70 4 3 4565 Kih &K (2) - IR 12.92
5 7 5047 FZM HAT() = - sk 12.74 5 8 2775 (g R@3) s+ KHAC 12.94
6 1 6759 K EH(D) = o sim 12. 80 6 6 4963 JIlO KHEQ) = i 13.14
7 8 3271 FF #AK(QB) = m-mopd 13.17 2 3190 KB FEQ) = m-EAT DNS
5 2780 #fkM #E(3) F e KAAC DNS 7 3155 FHIL EBY(1) & m-TSM DNS
TTHE (.:-0. 5) 78%H (E:-1.2)
NEGE V- fyn' = KA EiE] FLfk AV NEGE V- Fun - K4 EiE! Fofk 2Avb
1 4 6613 HAF RikK(@2) = m- kiR 12.10 13 6671 ®JII FEEI() = & KoEE 12.55
2 7 7510 kM@ 4&3b(1)  ® m-mEsc 12.17 2 6 2800 RE —HE@) = m-yHH 12.85
38 2963 B /A (2) e mueres 12. 37 37 2255 fMh AHER(L) B - ngE 12. 89
4 2 4659 AEKRT AESF(2) = me mmomE 12. 48 4 5 4978 i #E(1) B KA 12.94
5 5 4273 NH 4E3}F(2) B A AmBE 12. 69 5 4 7673 /H{T EH(2) = m-mCEm 12.96
6 1 7671 K #FE(2) B e TROEmE 12.78 6 2 2811 A#t HEH@B) = - wEd 12.97
76 2285 /A M&(1) = om-wrma 13.68 71 2893 fex kK FHEQ) B m-wmh 12.99
34960 K MHE (1) = me s DNS 8 4901 TN EH (1) = & - ks DNS
T9%H (JE:-0. 6) 80%H (JE.:-0. 6)
A e N N - 4 e FLEk /b NERL V= Fun - K4 i FLEk 2Avb
1 4 4256 A BaK(B) B a-mRe 12. 45 1 5 2978 ¥BEF EKER(2) = - acskL 12.58
2 1 7458 FKE HAG(3)  ® - KA 12.71 2 7 3199 FRME HUES(3) & -mAT 12.72
3 5 3189 #k #H3}(2) T oA AT 12.83 3 6 7436 FEME TRQ) = @ ks 12.79
43 2770 ERr RAA) = m-KHAc 12.90 4 3 7455 BRI FHAEG) = owm- o 12.86
5 6 7550 #AKk LK (2) = me s 12.91 5 4 2839 UTiE HEBL(3) & - Lt 13.07
6 8 4861 JE/K MEK() = m-rbuns 13.08 6 2 2829 #aK EKQ) = m-Emm 13.08
2 4850 ®T ¥t (3) = m-rbunE DNS 7 8 2793 BH BK(©@) & m-ykm 13.13
73111 A IKHI(2) - DNS 1 6729 K& HEAERQ) = % rmis DNS
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B{hV-% 115%H
8148 (8.:-0. 8) 8248 (2. 5)
JERE V= dun' = K4 P& Fofk 1Avh WERr V= tun - K4 Bz Fifk Vb
1 4 6760 HEE HLFER (D) m - dumEe 12.69 1 2 6752 &I BLER(1) = - dumdes 12.16
2 2 6712 B FHEIQ) F - WA 12.93 2 5 4902 {2 k() B - mEgE 12.33
3 7 4933 i HEE (1) B WA 13.04 3 1 6713 /B HEHE(1) = o 12. 42
4 1 4999 [Llg SFE (1)  ®& - s 13.09 4 8 6558 TN EA(2) = - WAk 12. 50
5 8 3967 &R KFEGB) #® m-EAT 13.50 5 4 4878 # fHEA(D) T - FEE 12.93
34991 WEH (HEE(D) T - s DNS 6 6 4879 R BHEL(1) B G- 13.08
5 4993 LT BEAEQ) B & s DNS 7 7T 6669 7 WAMERT(1) = - A 13.27
6 3203 & EE®3) T M- EAT DNS 8 3 3649 ME #E (1) = - kAAc 13.83
83#H (JE.:-0.9) 84%H (E:-1.2)
NEDE Vv dun - K4 B Flék 1AV JEDL V- dun - K4 i Fifk Vb
1 5 9217 &I ALK T - Bkl 12. 37 1 6 4938 ZEE  HEAT (1) = m-ssmms 12. 66
2 7 4930 AT EEO)  ® M- BRE 12.41 2 5 6696 MH EMNA) B M-oLEE 12.70
3 8 4257 14 WS} (3) B G- WERE 12. 65 3 4 6470 FHAIL fE(3) = m- s 12.77
4 1 5003 FEH F{Q) = &-iE 12.88 47 2277 Mefm BESR(L) ®m s W 13.15
5 2 4929 A M%) B - m@EE 13. 00 5 3 6680 MNfE HEER(1) = ow-mzmem 13.24
6 3 5001 KREF #E() = - sEis 13.13 6 8 4937 EHA VA (1) = m-asEEs 13.51
7 4 2281 LEM K1) = - wAwEs 14. 15 7 1 2279 4% vvy #xemQ) B M- WO 14. 33
6 2275 [LUH BEEE() ® - DNS 2 0 Z27T TR T g0 - Eabel DNS
8540 (R:-1.1) 86%H (R:-1.3)
JERE V= dun' = K4 P& Flfk 1Avh WERr V= Fun - K4 Bz Fifk Vb
1 1 4849 »t2994 7a7r vi® B - bR 12.08 1 1 5098 HI¥F MiF (3) = m-BATFL® 12. 34
2 5 4939 JiAR  HHI(A) = -kl 12. 45 23 2807 &M &AL B M- WD 12.91
3 6 4940 LRI FAKQ) = om-swmmEE 12.48 3 7 6543 FA AHE(2) B0 AR 12. 94
4 8 6540 dbJIl fEE(2) = - e 12.63 4 8 5069 AL EH Q) B - @ 13.08
5 3 2321 /MBIE BAQ) B &-maE 12.82 5 5 6454 iy HEA(2) = - srop 13.12
6 2 6697 pH HBI(D) B - okEm 12.87 6 2 2973 HH {ABH() = omeaoomk 13.19
7 4 2260 ®E FEE B M-AGX 13. 41 7 6 2844 % &3 (3) & g #kilh 13.20
8 7 6698 B HFH() T EEE 13.58 4 5082 /NE O ZEERG) ® o B DNS
STHH (JE.:-0. 6) 88%H (E:-1.5)
NEGE V- fyn' = KA EiE] FLfk AV NEGE V- Fun - K4 EiE! Fofk 2Avb
1 3 7447 JNpE WE(3)  m - Kiedkd 12. 86 1 6 2264 EH MBI B m- s 12.52
2 8 3158 WH #lt(1) = m-TsMm 13.07 2 4 2819 FHE FHiwm@ B m-#Hbdb 13.04
32 6469 MU —pk(3) = e wmnseEn 13.16 3 5 3154 EH HB2EQ) = m-TSM 13.17
4 b5 3278 WA AK(Q2) % - KIKKO TFC 13.41 4 1 5084 K EFF(3) TG BEh 13.25
5 4 6699 Mg WEE(1) = -z 13.71 5 7 2774 the EEE(2) B m-k#AC 13.62
6 1 6629 KiE TEEQ) = om - ockmms 13.89 6 3 3986 fh BELAKER(2) = M- HEE 13.62
77 3259 +RB OIEE(Q) = m-momad 13.91 7 8 3768 AL [BE(1) B m-mogd 13.68
6 2801 B FEIKER(3) & &0 - Wikt DNS 2 3926 N MUEG) ' M- WES DNS
89#H (JE.:-1.0) 90%H (E:-1.2)
JEAL V= dun' - K4 Bl Flfk Vb NERE V=2 Fun - K4 B Fifk Vb
1 3 2253 &= (D) B M- LB 12. 80 1 3 5152 EHGE PEm(3) = - BATH 12.93
2 5 2331 &R MR B - fES 12.85 2 2 3178 M@ K5 (3) G- TSM 12.98
3 2 2256 #EE ERA(L) B - jurE 12.99 3 6 4728 MEE AR (Q) =T w-mHE 13.28
4 4 6463 BT A (3) = omemnsmimn 13.03 4 7 2796 ARE  JHE(2) = - WS 13.39
5 7 3282 T BRIR(2)  ® - KIKKO TRC 13. 26 5 4 9660 #HA T T Bk 13. 46
6 6 6465 WL M1 (3) 0+ A5 FIFE 13.34 6 1 2962 LI W) s 13.82
7 1 2167 &A% W] B m - AT 13.63 7 8 5257 VTjE JEEL(1) ® % -serpRojEct 13.97
8 2786 M JEFH(2) B WD DNS 8 5 3263 /MR FRA(2) ® om-mofd 14. 06
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FLEREAL BT K=

6HT7TH 00:00 #{hV—%

B{hV-% 115%H
918 (B.:-0. 1) 9248 (-1 1)
JERE V= dun' = K4 P& Fofk 1Avh WERr V= tun - K4 Bz Fifk Vb
1 2 6481 U K1) = -kl 11.96 1 3 5052 B&M AEEQ) = om0 BE 12.81
2 5 5058 HiE EA() B - e 12.24 2 6 6700 A, RE(1) = owm-mzmes 12.92
3 6 5032 vasdsdt TAVAQ) F - FEEE 12. 87 3 2 7672 FII A=(2) - TRCH:M 13.13
4 3 4881 kH K1) =B m-dHEE 12.88 4 1 3776 AR @BEEIQ) B M- wEdE 13.16
5 1 2338 %% SREA(1) & A0 LEes 13.12 5 4 5059 {EMH BEEQ) = M- EmE 13.20
6 4 4880 Hply EF(1) B - M 13. 14 6 8 5033 KKk DOxH(Q2) B m- ik 13.77
706677 HF KA = om-msTE DQ, FS 7 5 5055 WEH (1) =& - B 13.81
8 0 W AT B B DNS 702307 K Bk = wemeossa DNS
93#H (E.:-2. 0) 945%H (E:-1.3)
NEAL V= Fon' = K4 B FoEk aAvb NERL V= Fun - K4 B FoEk 2Avb
1 3 2254 FPWR FjZE(1) = - B 13.08 1 2 4474 R FIK(Q) = w-semkes 12.97
2 5 7660 Hi&E fE3k(1) = m-H#AC 13.13 2 6 3114 i JWzi2) = - EERD 13.54
37 3187 Kk fEIEQ) = - EHAd 13. 42 33 7709 RiH A0 (3) & m-duliac 13.59
4 1 3270 [WlE AR = m-mofd 13.77 4 1 3188 HE FHFE©@) = m-medb 13.83
5 8 2785 M ZEX£(©2) & m-yHdD 13.79 5 4 2791 K #Hh(2) - WD 13.90
6 4 6459 FHEH  FHQ) B AR 13.89 6 8 5051 JEE REA() & - el 14.02
76 3929 U %3 OG- 4R 14. 06 7 3770 R HRAE (1) T o DQ, FS
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